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1 |E=e—fx 1969 80 33 1 216 216 219 222 WE
2 |JLpEER 1929 66 22 3 209 204 213 193 EEES
3 | KIH08kx 1935 71 20 2 190 208 209 211 FE
4 |ERE—B 1881 63 23 5 209 212 205 200
5 |UbHE B 1921 68 16 4 206 211
6 [ESEk | 1868 51 17 8 213 206
7 |dtEEdEx | 1880 51 16 6 210 202
8 |ERE Ry 1871 56 20 7 204 192
9 |/bHE By 1852 54 19 9 202
10 |EwHEEK | 1769 40 11 12 202
11 |%zdr By 1824 42 16 10 199
12 |RERdEE | 1794 34 10 12 198
13 |PHE=B 1756 27 10 14 192
14 |pedbdlx | 1794 36 14 11 183
- |{EH 1923 78 22 44 225




